test review.notebook February 26, 2018

Warm-Up February 26, 2018
A. @7) = f(ﬁ]-bx\+?)
bx-14= -aYx- 1L

ox %X’(/Iﬁ
Solve and Graph
B. 7>4x-15 -1 <)
Ll\{:“lSTISI§7+IS
Y <29
o<y 5

G 55
1!} X_
Q}%s’u 1 ¢



test review.notebook February 26, 2018




test review.notebook February 26, 2018

2. A taxicab charges $2.50, plus S1.78 per
kilometre. 1dentifies the variable

A.Write a "let" statement.

;{_Q)t “o[ 7 rszeS—M\t ()\(’S’}'dl\b(

B.Write an equation for the cost of the taxi ride.
C < 9.60+,|/)?A
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3. State 3 values of the variable that satisfy each inequality.
b) az-3

a) c<7
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4 . Write the inequality that is graphed on each number line.
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3. Write an inequality to describe each situation, then rap Cﬁp §+2kﬂ7ent
Lok W7 represst | v ) < 8S

a) The gas tank in a car contains no mﬂre than 55 L of gas.
e e e e e I{A e e e e

b) The minimum age you must be to watch the movie 15 13. _a
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Skateboards can be rented from two shops

in a park.

Shop Y charges $15 plus $3 per hour

Shop Z charges $12 plus $4 per hour

A. Write a "let" statement to represent the variable

Sk WY For how S

B. write an expression for each shop

Swg) 19130 Shp2  [2.17h

C.Determine the number of hours that will make
the cost of shop_Y equal to shop Z

1=2
5+3h= [2+9h
15t3n-h: 1284 4h-1h

51 h =14

—u\-, 12-15
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Page 305
3,9 [ac.e], 11[ac], 12 [a,c], 17 [b]
~#*(Q &b, d
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